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- General Instructions

1. Readall instructions catefully before answering the questions.
2 Thié qn,:esti.onpaper. consists of 04 questions. Answef all questions.”
3. The-use of a non-programmable ¢lectronic calculator ki’s‘permitte.d.
4. Write d'own all releVant steps and simplify your answer/s.

Bt

s

7
8

Use a pen not a pencﬂ Use the glven book to wr1te down answers.

,-.Use blue or black ink to. answer the questions. .
. Clearly state your index number in your answer scrlpt

8. Involvement In any act1v1ty that is con51dcred as an exam offence w1ll lead to pumshment

-accordmg to exammatlon regulat;ons
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1) Find all the values of x that satisfy each of the following inequalities. In each case,
represent the set of possible values using the number line.

a)lx+1] =3 c)x.—§>4
b)jx—2]<5 d) x% — 2x < 3
(20 marks)
i) Let X = + V3.
a) Find positive integers a and b such that x = a + Vb.
b) Simplify v2x and show that x — vV2x = 1.
' (20 marks)
i) Leta = 1.2 x 1073. '
a) Find the value of -2 a’riza , o
0.0012
b) Write your answer to part (a) above, as a rational number in the standard
~ form.

(@omaks)

' 111) Wrrte down each of the followmg real numbers in the’ Screntrﬁc notat1on e
oa)y O,O(N)O‘OIOZ . b) 3240: 21005 ¢) -12. QOl d) O 92712 e)l 0021_‘

1v) Fmd the number of significant digits in each of the followrng and approxrmate eaoh
~ value to the second decimal place.

g . a),v.,l‘()‘z_(_)(‘).l,OZ. ©0)0.00103 ) 2010 0139 d) 1004001 e) 0001204 R »
S S _ = N ' ‘ (20 marks)’i’_f‘_ e

2) 1) Find the prrme factorizations of 120 and 270

-Based-on thie prime: factorizations or otherwise, state whether: each of the*followmg
statements is true.or: false In each case, give reasons. for your: answer

o) The number ——6 isa ratronal number in the standard form

. ‘, —b) The number = 1s a proper fraction.

“c) ‘The numbers 120 and 25 are relatively prlme numbers S

- d).The product of 120 and 270 is a square number. S WA o DO

" ¢) The product of V120 and V270 is a'surd. = T e e e e
IR o : L Lt o : ('40 'marks)'

ii) A square shaped cake with length 27 inches and width 12 inches is to be cut into equal
sized, square shaped pieces. Calculate the largest possible side length for a piece, if the

cake is cut with no left over from either side. How many such pieces can be cut from the
entire cake?
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i) Calculate the sample médian.

s - . "

- -

(20 marks)

ii) Iflog, 6 = m, log, 5 = n, find the values of each of the following, in térms of m and n:
a) logs 2 b) log, 30 c) logs8 - d)loge (515)

_ (20 marks)
iv) Substituting log, x = t, find x that satisfy the equation log, x — 3 log, 2 — 4 = 0.
(20 marks)

The following summary table was constructed from the fibre content measured on
randomly selected packets of a certain production.

Fibre content | Number of
(grams) packets
2.0-3.4 5
35-49 - 12
50-64 i 24
6.5-79 48
80-94 8
9.5-10.9 3

1) Calculate the sample mean and explain what it measures in relation to this study. T
' ' (25 marks)

(15 marks)

1v)Construct a suitable  graph to 1llustrate the information presented in the table and clearly v

state all the findings from the graph
: - (25 marks)

iii) Out of the two measures calculated in parts (i) and (ii), which measure would be more
appropriate fo estimate the expected fibre content of a randomly chosen packet‘7 Give
reasons for your answer. :

(15 marks)

iv) State whether each of the fol lowmg statement about the fibre content measured in this study

is true or false. In each case, give reasons for your answer. = '
a) The fibre content in this study is measured as an interval scale variable.

* b) A bar chart s suitable to examine whether the variable 1epre%ent1ng the fibre content o

is symmetrloally dlstrlbuted or not :
S : “o. o (20'marks) -

......

4) 1) Find the missing value x in-each of the following:

a) Ten observations arranged in ascending order are 12, 15, 20, 21, 25, x, 30, 40.50, 60.
The sample mean is 30.1.

(10 1narl£s)
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ib) Ten observations arranged in ascending order are: 9, 10, 10, 12, 13, x, 17, 17, 18,

18. The sample median of the data is 14.
(10 marks)

ii) The minimum, maximum, first quartile, and the third quartile of a set of data are 10, 103,
15, and 22 respectively.

a) Calculate the range of the data.

(5 marks)
b) Calculate the inter-quartile range of the data.

(5 marks)

¢) Which of the two measures of dispersion calculated in part (a) and (b), would you
recommend for this data? Give reasons for your answer.

(15 marks)

iii) The times spent per week (in mmutes) by a group of students on homework is summarised in
the followmg table. : : : L

: Tim'cé‘pent (minutes)' Number of students
0o | 16
25029 48
30-34 |36
35-39. 5

- ‘a) What s the-class width used incbn’structing the given frequency table. Dl
T (5 marks)

e --b) Ca culate the relatlve frequency correspondmg to the third class mterval and clearly explam '
‘what 1t measures in relatlon to th1s study '
- (15 marks)*
- ¢) Construct a. suxtab e graph that can be used to calculate the percentlles of the data. =
(15 rarks)
- d) Using the Oraph constructed in part (a) or otherwise, calculate the first quartile of the data
and explain what it measures in relation to this study..
(20 marks)
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